INSTALLATION INSTRUCTION

BLACK HORSE PART#[1BB113205-SP/BB113205A-SP
OFF ROAD | BULL BAR FOR NISSAN TITAN 04-08/NISSAN ARMADA 04-08

QTY. ITEM CONTENT
2 3 M12-1.25 X 60MM HEX HEAD BOLT
2 4 M12-1.25 X 30 MM HEX HEAD BOLT
4 5 %" FLAT WASHER
4 6 %" LOCK WASHER
2 7 M8-1.25 X 25MM HEX HEAD BOLT
4 8 3/8” FLAT WASHER
2 9 3/8 LOCK WASHER
2 10 SPACER TUBE

STEP 1 REMOVE CONTENTS FROM BOX AND VERIFY ALL PART ARE PRESENT. READ
INSTRUCTIONS COMPLETELY BEFORE BEGINNING.

STEP 2 IT MAY BE NECESSARY TO REMOVE/RELOCATE FRONT LICENSE PLATE AND LICENSE
PLATE BRACKET. IT IS NOT REQUIRED, BUT SRONGLY RECOMMENDED.

STEP 3 REMOVE TOW HOOKS BY REMOVING FRONT AND REAR TOW HOOK BOLTS. BOLTS
WILL BE TIGHT. NOTE: TOW HOOKS WILL NOT BE REINSTALLED.

STEP 4 SLIDE BULL BAR ASSEMBLY THROUGH TOW HOOK OPENINGS AND ATTACH AS
SHOWN. SEE FIGURE 2.



remove existing tow hooks and bolts
figure 2

installation of passenger side, driver side opposite. (skid
plate removed for clarity.

BLACK HORSE BULL BARS GRILLE GUARDS


http://www.carid.com/grill-guards.html
http://www.carid.com/black-horse-off-road/

